
 

 

 

 
(23)   8.4   Integrals of Rational Function   (A) 

 
(1) A RETINAL FUNCTION is a quotient of two polynomials )1 (خارج قسمة حدوديتين ھي الدالة النسبية  

 For example
ଶݔ1 − 4  , ݔሺݔଶݔ2 − 1ሻଶ , ଶݔሺݔ1 + ݔ − 1ሻ are retinal functions 

But
ݔ√1    , 1݁௫ , ln ݔݔ , ݔ| − ଶݔ|2 , sinଶ ଶݔ5ݔ − 7 are not retinal functions 

(2) PARTIAL FRACTION 
Any retinal function can be rewrite as sum of fractions 
with denominator of degree 1 or  2(hasn’t real root) . 
These fraction is cold partial fraction  

(2) الكسور الجزئية
إذا كان لدينا حدودية نسبية مقامھا قابل للتحليل إلى عوامل من الدرجة 

فانه يمكن إعادة كتابتھا على صورة مجموع عدة الأولى أو الثانية 
ليس لھا جذور (حدوديات نسبية مقاماتھا من الدرجة الأولى أو الثانية 

ݔܣوتسمى ھذه الحدوديات بالكسور الجزئية و تكون على الصور)حقيقية + ܽ , ݔሺܤ + ܽሻଶ , ݔܥ + ଶݔܦ + ܽଶ  

To integrate a rational function it is usually necessary to 
using partial fraction 

وضعھا على صورة  الضروريلإيجاد تكامل دالة نسبية يكون من 
مجموع من الكسور الجزئية

 
 
 
 

RATIONAL FUNCTION PARTIAL FRACTION 2ݔሺݔ + 2ሻሺݔ − 5ሻ 
ݔܣ + 2 + ݔܤ − 5 

ଶݔ3 − 1ሺݔ − 7ሻሺݔ + 3ሻଶ 
ݔܣ − 7 + ݔܤ + 3 + ݔሺܥ + 3ሻଶ 

ݔ − 1ሺݔ + 4ሻሺݔଶ + 5ሻ 
ݔܣ + 4 + ݔܤ + ଶݔܥ + 5  

ݔ + 2ሺݔ − 1ሻଶሺݔଶ + 7ሻ ݔܣ − 1 + ݔሺܤ − 1ሻଶ + ݔܥ + ଶݔܦ + 7  
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Example 1   Evaluate  the integral   න ଶݔ2 − ݔ10 + ଷݔ15 − ଶݔ4 − ݔ5 December   2006   42 ݔ݀

Solution ݔଷ − ଶݔ4 − ݔ5 = ଶݔሺݔ − ݔ4 − 5ሻ = ݔሺݔ − 5ሻሺݔ + 1ሻ    2ݔଶ − ݔ10 + ଷݔ15 − ଶݔ4 − ݔ5 = ଶݔ2 − ݔ10 + ݔሺݔ15 − 5ሻሺݔ + 1ሻ = ݔܣ + ݔܤ − 5 + ݔܥ + 1  
 
ݔሺܣ  − 5ሻሺݔ + 1ሻ + ݔሺ ݔܤ + 1ሻ + ݔሺ ݔܥ − 5ሻ = ଶݔ2 − ݔ10 + 15 
 
at    ݔ = 0                ⇨ ሺ−5ሻሺ1ሻܣ                 = 15                         ⇨ ܣ5−     = 15              ⇨ ܣ                         = −3  at   ݔ = 5                 ⇨ ሺ5ሻሺ6ሻܤ                  = 50 − 50 + 15      ⇨ ܤ30       = 15              ⇨ ܤ                        = 12   at    ݔ = −1             ⇨ ሺ−1ሻሺ−6ሻܥ                   = 2 − 10ሺ−1ሻ + ܥ6     15 = 27               ⇨ ܥ                       = 92   

ܫ =  න ଶݔ2 − ݔ10 + ଷݔ15 − ଶݔ4 − ݔ5 ݔ݀ = න ቌ−3ݔ + ݔ12 − 5 + ݔ92 + 1ቍ ݔ݀ = −3 ln|ݔ| + 12 ln|ݔ − 5| + 92 ln|ݔ + 1| + ܿ 

 

Example 2   Evaluate  the integral   න ଶݔ + ݔ2 + ସݔ3 − 1 July 2004   34 ݔ݀

Solution ݔସ − 1 = ሺݔଶ − 1ሻሺݔଶ + 1ሻ =  ሺݔ − 1ሻሺݔ + 1ሻሺݔଶ + 1ሻ  ݔଶ + ݔ2 + ସݔ3 − 1 = ଶݔ + ݔ2 + 3ሺݔ − 1ሻሺݔ + 1ሻሺݔଶ + 1ሻ = ݔሺܣ − 1ሻ + ݔሺܤ + 1ሻ + ݔܥ + ଶݔሺܦ + 1ሻ  ܣሺݔ + 1ሻሺݔଶ + 1ሻ + ݔሺܤ − 1ሻሺݔଶ + 1ሻ + ሺݔܥ + ݔሻሺܦ − 1ሻሺݔ + 1ሻ = ଶݔ + ݔ2 + 3 at  ݔ = −1                ⇨ ሺ−2ሻሺ2ሻܤ                 = 1 − 2 + 3             ⇨ ܤ4−                   = 2    ⇨ ܤ                       = −12   at   ݔ = 1                   ⇨ ሺ2ሻሺ2ሻܣ                = 1 + 2 + 3                  ⇨ ܣ4                    = 6     ⇨ ܣ                          = 32 ݔ   ݐ    = 0                    ⇨   ൬32൰ ሺ1ሻሺ1ሻ + ൬− 12൰ ሺ−1ሻሺ1ሻ + ሺ−1ሻሺ1ሻܦ = 3                                                                                                           32 + 12 − ܦ = 3       ⇨   2 − ܦ = 3  ⇨ ܦ              = −1 ݔ   ݐܽ   = 2                ⇨  ൬32൰ ሺ3ሻሺ5ሻ + ൬−12 ൰ ሺ1ሻሺ5ሻ + ሺ2ܿ − 1ሻሺ3ሻ = 4 + 4 + 3                                                                   452 − 52 + 6ܿ − 3 = 11                  ⇨               20 +  6ܿ − 3 = 11                                                                                        6ܿ + 17 = 11                ⇨                6ܿ = −6  ⇨                ܿ = −1  
 ∴ ܫ =  න ଶݔ + ݔ2 + ସݔ3 − 1 ݔ݀ = න ቌ ݔ32 − 1 + − ݔ12 + 1 + ଶݔݔ− + 1 + ଶݔ1− + 1ቍ  ݔ݀

ܫ      = 32 ln|ݔ − 1| − 12 ݔ| + 1| − 12 lnሺݔଶ + 1ሻ − tanିଵ ݔ + ܿ 
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Example 3   Evaluate   න ݔଶሺݔ − 1ሻሺݔଶ + ݔ2 + 1ሻ   ݔ݀

Solution ሺݔ − 1ሻሺݔଶ + ݔ2 + 1ሻ = ሺݔ − 1ሻሺݔ + 1ሻሺݔ + 1ሻ = ሺݔ − 1ሻሺݔ + 1ሻଶ ݔଶሺݔ − 1ሻሺݔଶ + ݔ2 + 1ሻ = ݔଶሺݔ − 1ሻሺݔ + 1ሻଶ = ݔሺܣ  − 1ሻ + ݔሺܤ + 1ሻ + ݔሺܥ + 1ሻଶ  ∴ ݔሺܣ + 1ሻଶ + ݔሺܤ − 1ሻሺݔ + 1ሻ + ݔሺܥ − 1ሻ = ݔ   ଶ atݔ = 1      ⇨ ܣ4       = 1                                                                                                                                  ⇨ ܣ    = 14   at   ݔ = −1   ⇨    −2ܿ = 1                                                                                                                                  ⇨ ܥ    = −12 ݔ ݐܽ  = 0        ⇨    ൬14൰ ሺ1ሻ + ሺ−1ሻሺ1ሻܤ + ൬−12 ൰ ሺ−1ሻ = 0   ⇨    34 − ܤ = 0                                         ⇨ ܤ    =  34     
ܫ = න ݔଶሺݔ − 1ሻሺݔଶ + ݔ2 + 1ሻ ݔ݀ = න ቌ ݔ14 − 1 + ݔ34 + 1 + − 12ሺݔ + 1ሻଶቍ    ݔ݀
   = 14 ln|ݔ − 1| + 34 ln|ݔ + 1| + 12ሺݔ + 1ሻ + ܿ 
 

Example 4   Evaluate   න ଶݔ − ݔ3 + ଶݔ2 − ݔ4 + 3   ݔ݀

Solution ݔଶ − ݔ4 + 3 = ሺݔ − 3ሻሺݔ − 1ሻ 
 
 
 
ଶݔ  − ݔ3 + ଶݔ2 − ݔ4 + 3 = 1 + ݔ − ଶݔ1 − ݔ4 + 3 = 1 + ݔ − 1ሺݔ − 3ሻሺݔ − 1ሻ = 1 + 1ሺݔ − 3ሻ  ܫ = න ଶݔ − ݔ3 + ଶݔ2 − ݔ4 + 3 ݔ݀ = න 1 + 1ሺݔ − 3ሻ = ݔ݀   ݔ + ln|ݔ − 3| + ܿ 

 

න تذكر ݔ1 + ܽ ݔ݀ = ln|ݔ + ܽ| + ܿ 

න 1ሺݔ + ܽሻଶ ݔ݀ = ݔ1− + ܽ + ܿ 

න ଶݔ1 + ܽଶ ݔ݀ = 1ܽ tanିଵ ቀܽݔቁ 
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Homework 
 

1 Evaluate  the integral නݔହ + ଷݔ4 + ଶݔሺݔ11 + 1ሻଶ December   1995   4 ݔ݀

2 Evaluate  the integral න ଶݔ3 + ݔ11 + 7ሺ2ݔ − 1ሻሺݔଶ + ݔ6 + 10ሻ May   1996   5 ݔ݀

3 Evaluate  the integral න ݔሺݔ + 1ሻሺݔଶ + 1ሻ July   1996   6 ݔ݀

4 Evaluate  the integral නݔଷ + ଷݔ1 − November   1996   7 ݔ1݀

5 Evaluate  the integral න 2 + ସݔݔ3 + ଶݔ May   1997   8 ݔ݀

6 Evaluate  the integral න ݔ3 + ଷݔ5 − ଶݔ4 + ݔ − August   1997   10 ݔ4݀

7 Evaluate  the integral න 41 + ݔ − ଶݔ − ଷݔ December   1997   11 ݔ݀

8 Evaluate  the integral න 21 + ݔ + ଶݔ + ଷݔ December   1997   12 ݔ݀

9 Evaluate  the integral න ଶݔ6 − ݔ3 + 1ሺ4ݔ + 1ሻሺݔଶ + 1ሻ May   1998   13 ݔ݀

10 Evaluate  the integral න ଶݔ − ݔ2 + ସݔ1 + ଶݔ2 + December   1998   15 ݔ1݀

11 Evaluate  the integral න ଶݔ3 − ݔ4 + 5ሺݔ − 1ሻሺݔଶ + 1ሻ December   1999   18 ݔ݀

12 Evaluate  the integral න ଶݔ2 + ଷݔ3 + ଶݔ + ݔ4 + May   2000   19 ݔ4݀

13 Evaluate  the integral න ଷݔ − ଶݔ1 + ݔ − April   2000   20 ݔ6݀

14 Evaluate  the integral න ଶݔ2 + ଷݔ3 + ଶݔ + ݔ4 + May   2000   21 ݔ4݀

15 Evaluate න 1ݔ݀ + sin ݔ − cos ( pts 4 ) ݔ 41   14 January 2012

 




